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ABBREVIATIONS 
 
DS   = double stitch 

R      = ring 

SR   = split ring 

CH   = chain 

cl    =  cluny 

FR   = floating ring 

+      = join 

 -      = picot 

--      = long picot 

clr    = close ring 

CTM = continuous thread method 

 
 = bead nº 6 
 

 
         = bead nº 8   
 
2 Shuttles 
 
Thread = Perle nº 8 Anchor. 
 
 
 
 
Start with CTM  
 
R1 = 9DS ( + bead nº 6 ) - 5DS -- 4DS clr. 

CH = 6DS FR ( 4DS - 4DS Clr ) 6DS. 

SR2 = 9DS + ( bead nº 6 ) - / 4DS + ( -- R1 ) 5DS. clr 

SR3 = 12DS + ( bead nº 8 ) + ( - R1 ) / 6DS clr 

Cluny 1 = 20 passes. 

 
Clover 
 
R4 = 9DS + ( bead nº 6 ) - 5DS - 4DS. clr. 

R5 = 4DS + ( - R4 ) 8DS + ( bead nº 8 ) - 8DS - 4DS clr. 

R6 = 4DS + ( - R5) 5DS + ( bead nº 6 ) – 5DS--- 4DS. clr 

Cluny2= 20 passes 

Repeat clover 
 
Cluny 3 = 20 passes + SR3. 
 
 
Place the hook for earring 
 
Cut & Tie 



 
 
 
 
 
 
 
 
 
 
 
 
 


